T I.. 4 "y Ty kL, . 4 " -I_ .._'. -
____.? = i el T
: o 1 N T - u L= —

e, ¥ o
N

hi: i I-a:' 4 'm':h'lle -.:.'.'=
PO e

(1/25,000)

793

2)

20 1 2 5 1 ( ) 17 152




793-1

793-2

o
oo ==

793

100kN/

@

0

1:2,500




50

100kN/

1+

793-1

iy

1:1,000

@




-
e e e

A

50

25

793-1

@

1:1,000

100kN/




108

50

25

793-1

@

(/]

[ [1:1,000




m m
m m
100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?

1 2 78.47 1.00 9.96 1.86

2 3

3 4

4 5

5 6

6 7 110.13 1.00 100.00 1.00 8.73 1.63

7 8 109.27 1.00 100.00 1.00 11.10 2.07

8 9 100.00 1.00 11.10 2.07

9 10 98.28 1.00 8.36 156
10 11 95.10 1.00 8,51 1.59
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?

1 2

2 3

3 4 91.05 1.00 8.74 1.63

4 5 89.92 1.00 9.28 1.73

5 6

6 7

7 8 79.92 1.00 10.47 1.96

8 9 79.92 1.00 9.83 1.84

9 10 85.60 1.00 9.83 1.84
10 11
11 12
12 13 104.10 1.00 100.00 1.00 8.76 1.64
13 14
14 15
15 16 84.35 1.00 11.61 2.17
16 17 90.10 1.00 11.61 2.17
17 18
18 19
19 20
20 21 115.72 1.00 100.00 1.00 8.99 1.68
21 22
22 23
23 24
24 25
25 26
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
2 100.00 1.00 11.04 2.06
3 108.05 1.00 100.00 1.00 11.04 2.06
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